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BilDQABRMEDOEEE 1,194

ELED




B £ Bl =

6177 TSR 44 FER4t | EESMEEE BANNE—BILEERR
1—FMNo |(#&i&) Aoy H+2J7J0v5 FpA:=Ei
{#5-20 | E@1EXEE 3= 55 3= 433 10 m2
B {fiNo £ G R % B = B B &® % & =

24| T R— AR S5 SH3FEIRAFHE 0.050 A 23,415 1,171
21EBEXS SH3EI/FHE 0.290 A 19,740 5,725
524| B ¥ CEFER) JE10mm 11.200 m2 1,710 19,152|A R #12%
i A - 4B 8K LU E 26,048
= {iff 1.0 m2&Y) 2,605
BlDORNFHEEDELE 690
BilDQABRMEDOEEE 1,915
]




B £ Bl =

6184 |4 ERE1E EEFMNEERE HR)IE—AILEZEm
—no [ B Ao JAyy HJJ0vY FpA:=Ei
120.6m LUAKEDES T = 55 = 433 1m
H{fiNo £ G R % B = B I B &® % & =
25| UMD EE T SH3FEIRAFHE 0.060 A 22,995 1,380
i A - 4B 8K LU E 1,380
= {iff 1.0 m¥Y) 1,380
BlDORNFHEEDELE 1,380
HilORAEBEMEDOEEE 0

ELED




B £ Bl =

6371 |14 | EEFMNEEE EAIIFE—AILEER
31—FNo | (#8:1&) AJavy H+2J7J0vH YER BT
#1-2-32)|10cmEL E16ecmkiE (IUAFLEFI) HmE 55 HE 433 100 &
H{fiNo £ G R % B = B I B &® % & =
* 1|3 EEXE SH3FEIRAFHE 0.320 A 21,840 6,989
* 25| IUMBEE T SH3EI/FHE 0.320 A 22,995 7,358
100058 #t & MNEEREIIHTHENE 6.000 % 14,347 861
A - 4B 8K LU E 15,208
= {iff 1.0 KLY 152
BlDORNFHEEDELE 143
HilORAEBEMEDOEEE 0

ELED




B £ Bl =

6372 |14 | HEESGMEEE HANE—AIUBEMR
1—FNo | (#&1&) Ao JAyy H+2J7J0v5 FpA:=Ei
#1-2-32)|16cmBL E22cmakiE (ILUAALEETI) HmE HE 433 100 &K
H{fiNo £ G R % B = B I B &® % & =
* 1|3 EEXE SH3FEIRAFHE 0.420 21,840 9,173
* 25| IUMBEE T SH3EI/FHE 0.420 22,995 9,658
100058 #t & MNEEREIIHTHENE 6.000 18,831 1,130
A - 4B 8K LU E 19,961
= {iff 1.0 KLY 200
BlDORNFHEEDELE 188
HilORAEBEMEDOEEE 0
]




B £ Bl =

6373 |1k | EEFMNEEE EAIIFE—AILEER
1—FMNo |(#&i&) Aoy H2J7J0vY FpA:=Ei
#1-2-32)]22cm Ll E28cmkiE (IUAALEETI) HmE 55 HE 433 100 &
H{fiNo £ G R % B = B I B &® % & =
* 1|3 EEXE SH3FEIRAFHE 0.520 A 21,840 11,357
* 25| IUMBEE T SH3EI/FHE 0.520 A 22,995 11,957
100058 #t & MNEEREIIHTHENE 6.000 % 23,314 1,399
A - 4B 8K LU E 24,713
= {iff 1.0 KLY 247
BlDORNFHEEDELE 233
HilORAEBEMEDOEEE 0

ELED




B £ Bl =

6374 |14 | EEFMNEEE EAIIFE—AILEER
1—FNo | (#&1&) Ao JAyy H+2J7J0v5 FpA:=Ei
#1-2-32)128cml £ (LLUAEDBFT) mE 55 mE 433 100 &
H{fiNo £ G R % B = B I B &® % & =
* 1|3 EEXE SH3FEIRAFHE 0.630 A 21,840 13,759
* 25| UM EE T SH3EI/FHE 0.630 A 22,995 14,487

100058 #t & MNEEREIIHTHENE 6.000 % 28,246 1,695

i A - 4B 8K LU E 29,941
= {iff 1.0 KLY 299
BlDORNFHEEDELE 282
HilORAEBEMEDOEEE 0
]




B £ Bl =

6376 |B:$h | EESMEEE BANNE—BILEERR
31—FNo | (#8:1&) AJavy H+2J7J0vH YER BT
#1-2-32)|10cmEL E16ecmkiE (IUAFLEFI) HmE 55 HE 433 100 &K
H{fiNo £ G R i B = B I B &® % & =
* 1|3 EEXE SH3FEIRAFHE 0.240 A 21,840 5,242
* 25| IUMBEE T SH3EI/FHE 0.240 A 22,995 5519
100058 #t & MNEEREIIHTHENE 8.000 % 10,761 861
A - 4B 8K LU E 11,622
= {iff 1.0 KLY 116
BlDORNFHEEDELE 108
HilORAEBEMEDOEEE 0

ELED




B £ Bl =

6377 [Bt$h | EESMEEE BANNE—BILEERR
31—FNo | (#8:1&) AJavy H+2J7J0vH YER BT
#1-2-32)|16cmBL E22cmakiE (ILUAALEETI) HmE 55 HE 433 100 &K
H{fiNo £ G R i B = B I B &® % i =
* 1|3 EEXE SH3FEIRAFHE 0.280 A 21,840 6,115
* 25| IUMBEE T SH3EI/FHE 0.280 A 22,995 6,439
100058 #t & MNEEREIIHTHENE 8.000 % 12,554 1,004
A - 4B 8K LU E 13,558
= {iff 1.0 KLY 136
BlDORNFHEEDELE 126
HilORAEBEMEDOEEE 0

ELED




B £ Bl =

6378 [Bt$h | EESMEEE BANNE—BILEERR
31—FNo | (#8:1&) AJavy H+2J7J0vH YER BT
#1-2-32)]22cm Ll E28cmkiE (IUAALEETI) HmE 55 HE 433 100 &K
H{fiNo £ G R i B = B I B &® % i =
* 1|3 EEXE SH3FEIRAFHE 0.310 A 21,840 6,770
* 25| IUMBEE T SH3EI/FHE 0.310 A 22,995 7,128
100058 #t & MNEEREIIHTHENE 8.000 % 13,898 1,112
A - 4B 8K LU E 15,010
= {iff 1.0 KLY 150
BlDORNFHEEDELE 139
HilORAEBEMEDOEEE 0

ELED




B £ Bl =

6379 [Bt$h | EESMEEE BANNE—BILEERR
1—FNo | (#&1&) Ao JAyy H2J7J0vY FpA:=Ei
#1-2-32)128cml £ (LLUAEDBFT) mE 55 3= 433 100 &
H{fiNo £ G R i B = B I B &® % i =
* 1|3 EEXE SH3FEIRAFHE 0.350 A 21,840 7,644
* 25| IUMBEE T SH3EI/FHE 0.350 A 22,995 8,048

100058 #t & MNEEREIIHTHENE 8.000 % 15,692 1,255

i A - 4B 8K LU E 16,947
= {iff 1.0 KLY 169
BlDORNFHEEDELE 157
HilORAEBEMEDOEEE 0

ELED




B £ Bl =

6381 |EL] | BEEGMEEE HA)IE—ALUEEmR
1—FNo | (#&1&) roJayy H2J7J0vY FpA:=Ei
#1-2-32)|10cmEL E16ecmkiE (IUAFLEFI) HmE 55 HE 433 100 &
H{fiNo £ G R i B = B I B &® % i =
* 1|3 EEXE SH3FEIRAFHE 0.200 A 21,840 4,368
* 25| IUMBEE T SH3EI/FHE 0.200 A 22,995 4,599
100058 #t & MNEEREIIHTHENE 9.000 % 8,967 807
A - 4B 8K LU E 9,774
= {iff 1.0 KLY 98
BlDORNFHEEDELE 90
HilORAEBEMEDOEEE 0

ELED




B £ Bl =

6382 |EL) | BEEGMEEE HA)IE—ALUEEmR
31—FNo | (#8:1&) AJavy H+2J7J0vH YER BT
#1-2-32)|16cmBL E22cmakiE (ILUAALEETI) HmE 55 HE 433 100 &
H{fiNo £ G R i B = B I B &® % & =
* 1|3 EEXE SH3FEIRAFHE 0.230 A 21,840 5,023
* 25| IUMBEE T SH3EI/FHE 0.230 A 22,995 5,289
100058 #t & MNEEREIIHTHENE 9.000 % 10,312 928
A - 4B 8K LU E 11,240
= {iff 1.0 KLY 112
BlDORNFHEEDELE 103
HilORAEBEMEDOEEE 0

ELED




B £ Bl =

6383 |EL] | BEEGMEEE HA)IE—ALUEEmR
31—FNo | (#8:1&) AJavy H+2J7J0vH YER BT
#1-2-32)]22cm Ll E28cmkiE (IUAALEETI) HmE 55 HE 433 100 &
H{fiNo £ G R i B = B I B &® % i =
* 1|3 EEXE SH3FEIRAFHE 0.260 A 21,840 5678
* 25| IUMBEE T SH3EI/FHE 0.260 A 22,995 5979
1000|5% # & MNEEREIIHTHENE 9.000 % 11,657 1,049
A - 4B 8K LU E 12,706
= {iff 1.0 KLY 127
BiORNFTHEEDEE 117
HilORAEBEMEDOEEE 0

ELED




Bk EE X
6384 |EL) EEFMNEEE EAIIFE—AILEER
1—FMNo |(#&i&) Aoy H2J7J0vY FpA:=Ei
#1-2-32)128cml £ (LLUAEDBFT) mE 55 3= 433 100 &

H{fiNo £ G R % B = B I B &® % & =

* 1|3 EEXE SH3FEIRAFHE 0.290 A 21,840 6,334

* 25| IUMBEE T SH3EI/FHE 0.290 A 22,995 6,669

100058 #t & MNEEREIIHTHENE 9.000 % 13,003 1,170

i A - 4B 8K LU E 14,173

= {iff 1.0 KLY 142

BlDORNFHEEDELE 130

HilORAEBEMEDOEEE 0

ELED




B g EE R
6391 |5V ILEEIA EEFMNEEE EAIIFE—AILEER
1—FMNo |(#&i&) Aoy H+2J7J0v5 FpA:=Ei
y Sl 3= 55 3= 433 108 m3
B {fiNo £ G R % B = B B & ] & =
13 B8R F (FF5%) SH3FEIAFE 1.000 A 19,530 19,530
2973|/\y ORI ERIO—SH L% 0.45m3 (4 Sy FILf) 1.000 H 52,000 52,000
* 99(8% M 17.000 L 102 1,734
100038 # % WNEEEEICHTHEE 21.000 % 1,734 364
i A - 4B 8K LU E 73,628
= {iff 1.0 m3&Y) 682
BiORNFTHEEDEE 181
BilDQABRMEDOEEE 0

ELED




B i =X

7009 |7Uh—# HEESGMEEE HANE—AIUBEMR
—no BB Ao JAyy H+2J7J0vH FpA:=Ei
me 55 3= 433 1=

B {fiNo £ G R % B = B B £ B & =
3701 |CER! it fer A 65CE ¢ 12.7mm X 5A<FH 24.000 A 67,400 1,617,600
3702|CE&! 5|5k #4 65CE ¢ 12.7mm X 54 235.440 m 3,810 897,026
3703|CERBRBRREM 65CE ¢ 12.7mm X 5A<FH 24.000 i 4,050 97,200
3704| 7o h—TL—MAvE &) 300 X 300 X t32 ¢ 86 24.000 54 13,630 327,120
3705(NyRF7H TA— 65CE 2172 24.000 & 12,000 288,000
3706| 7> h—~wK $12.7 %X IAFA 24.000 & 3,370 80,880
3710|474 E ®12.7F 120.000 #H 630 75,600
3707(A M ILFX ¥y 65CE 212 24.000 & 5,360 128,640
3708|BLE# AN FryT -~AYEFETE—H 48.000 kg 850 40,800
37091k /K #4 AT /N\——)LK-1 2.400 7N 2,200 5,280
71027| 7o h—EMERT TEMERRE 2t 1.110 t 742 824
i A - 4B 8K LU E 3,558,970
= {iff 1.0 XHY 3,558,970
BlDORNFHEEDELE 607
BilDQABRMEDOEEE 3,558,146

ELED




B | =
7010 |#%f5 AT -#H37 (D10) HEESGMEEE HANE—AIUBEMR
31—FNo | (#8:1&) AJavy H+2J7J0vH YER BT
S+ BE 55 BE 433 1000 kg
H{fiNo £ G R % B = B B &® % & =
4701 |SKAFANT 13mmLLTF 1.000 t 45,025 45,025
4709 |$k SR #A ST 13mmLLF 1.000 83,362 83,362
3723 | E M4 SD295A D10mm 1.030 97,500 100,425
A - 4B 8K LU E 228,812
= {iff 1.0 kg4l 229
BlDORNFHEEDELE 125
BilDQABRMEDOEEE 100

ELED




B | =
7011 |8%A5 AT -#837 (D16) HEESGMEEE HANE—AIUBEMR
31—FNo | (#8:1&) AJavy H+2J7J0vH YER BT
S+ BE 55 BE 433 1000 kg
H{fiNo £ G R % B = B I B &® % & =
4703|SKAFANT 16-25mm 1.000 t 38,256 38,256
4711 |8k FR#AST 16-25mm 1.000 69,682 69,682
3724 | E R 458 SD345 D16mm 1.030 96,500 99,395
A - 4B 8K LU E 207,333
= {iff 1.0 kg4l 207
BlDORNFHEEDELE 105
BilDQABRMEDOEEE 99

ELED




B | =
7012 |#%A5 AT -#837 (D19) HEESGMEEE HANE—AIUBEMR
31—FNo | (#8:1&) AJavy H+2J7J0vH YER BT
S+ BE 55 BE 433 1000 kg
H{fiNo £ G R % B = B I B &® % & =
4703|SKAFANT 16-25mm 1.000 t 38,256 38,256
4711 |8k FR#AST 16-25mm 1.000 69,682 69,682
3725| E st SD345 D19mm 1.030 96,500 99,395
A - 4B 8K LU E 207,333
= {iff 1.0 kg4l 207
BlDORNFHEEDELE 105
BilDQABRMEDOEEE 99

ELED




B | =
7013 |8 % ST -#837(D10~D19) | EEFNEEE HRIFE—AILEEM
1—FMNo |(#&i&) Aoy H+2J7J0v5 FpA:=Ei
BE 55 EE 433 5070 kg
H{fiNo £ G R % B = B B &® % & =
7010|#%A5 AT -#A37 (D10) S+t 120.960 kg 229 27,700
7011|8%A5 AT -#H37 (D16) s+t 1849.440 kg 207 382,834
7012|#%A5 AT -#A37 (D19) S+t 3099.600 kg 207 641,617
7033|Z ERE M EHKR T TE B R E 2t 2.540 t 742 1,885
i A - 4B 8K LU E 1,054,036
= {iff 1.0 kg2Y) 208
BlDORNFHEEDELE 106
BilDQABRMEDOEEE 99

ELED




B | =
7014 |Z[EMRT HEESGMEEE HANE—AIUBEMR
o [EE) A J0Ovy H+2J7J0vH FpA:=Ei
= 55 EE 433 24 K
B {fiNo £ R % B = B4 i ] & =
8013|a>4!')—k(21-8-25) BT/ vr—SHlEESR 71.760 m3 28,750 2,063,100
8014(EV4 BI/\wr—CEilstEsE|  176.850 m2 7,904 1,397,822 | Z X iR +FE 5
7013|585 AT -#H3I(D10~D19) 5070.000 kg 208 1,054,560
560|FEEIE{LE =——/LE(VU) IE4%Z150 D165 X t5.1mm 12.000 m 1,060 12,720
6177| TSR 2 A LEU TEEXS 25.000 m2 2,605 65,125
5372| A N IEHEIm B R LT -BMEL 44900 m2 548 24,605
8019|a>41)—k BT/ Avr—SEMHES R 8.400 m3 32,360 271,824|fsE + Lo
i A - 4B 8K LU E 4,889,756
= {iff 1.0 FE3Y 203,740
BlDORNFHEEDELE 96,986
BilDQABRMEDOEEE 102,797

ELED




B | =
7016 S5t A R ARMEER T HEESGMEEE HANE—AIUBEMR
1—FMNo |(#&i&) Aoy H+2J7J0v5 FpA:=Ei
= 55 EE 433 100 m2
H{fiNo £ G R % B = B B &® % & =
x 3[4 AVRE AR t=5mm 1X10m~ & 11.600 X 91,000 1,055,600
*  3N3|AVEVITER M4 x 30 SUS 50& - Avk|  760.000 A 17 12,920
* 24| £ R— G tHEER SH3FEIRAFHE 2.640 A 23,415 61,816
* 5 m I SH3EIAFHE 5.280 A 29,085 153,569
* Q1L BEXSE SH3FEIRAFHE 2.640 A 19,740 52,114
x  3721|FBEIF)IL $£TH ¢10~20mm 2.640| #tAH 63 166
100058 #t & MNEERBIIHTHENE 3.000 % 1,336,185 40,086
i A - 4B 8K LU E 1,376,271
= {iff 1.0 m2&Y) 13,763
BlDORNFHEEDELE 2,675
BilDQABRMEDOEEE 10,685

ELED




B i =X

7017 |7oh—E$THRT | EEFMNEEE EAIIFE—AILEER
1—FMNo rJavy H+2J7J0vH YER BT
= 55 = 433 10 &

B {fiNo R i B = B B ] & =
x  3712(LB 7 h—EY ®16 X400 104 0wk 10.000 i 316 3,160
* 5 SH3EIAFHE 0.300 A 29,085 8,726
1000 NRELEICHTIEE 3.000 % 11,886 357
A - 4B 8K LU E 12,243
= {iff 1.0 KLY 1,224
BlDORNFHEEDELE 873
BilDQABRMEDOEEE 316

ELED




B | =
7018 |ER/K T HEESGMEEE HANE—AIUBEMR
1—FMNo |(#&i&) Aoy H2J7J0vY FpA:=Ei
= 55 EE 433 100 m2

H{fiNo £ G R i B = B I B &® % i =
* 24| £ R— G tHEER SH3FEIRAFHE 0.840 A 23,415 19,669
* 5 m I SH3EIAFHE 2.520 A 29,085 73,294
* 25| UMD EE T SH3FEIRAFHE 0.840 A 22,995 19,316
*x  2524|RENFREHRER H1J2 1.0KVA 0.840| {#tAAH 595 500
x 2512 TEAKPHRVIEH A& 50mmiZIE10mIEE 0.840| #tFHH 172 144
*  7020(BUKEIEELIR & 4vh &= 1800L 0.840 = 27,580 23,167
100058 #t & MNEERBIIHTHENE 3.000 % 136,090 4,083
i A - 4B 8K LU E 140,173
= {iff 1.0 m2&Y) 1,402
BlDORNFHEEDELE 1,282
HilORAEBEMEDOEEE 0

ELED




B i =X

7019 | —5 U MTERT EEFMNEEE EAIIFE—AILEER
1—FMNo |(#&i&) Aoy H+2J7J0v5 FpA:=Ei
= 55 EE 433 10 m
H{fiNo £ G R % B = B I B &® % & =
x  3T4|EF—Sk Q300 320mLFa1—T 3.620 7N 1,900 6,878
* 24| T R— AR EE% SH3EI/FHE 0.120 A 23,415 2,810
* 50 m T SH3FEIAFE 0.120 A 29,085 3,490
100038 # % WNEEEEICHTHEE 3.000 % 13,178 395
i A - 4B 8K LU E 13,573
= {iff 1.0 m¥Y) 1,357
BlDORNFHEEDELE 630
BilDQABRMEDOEEE 688

ELED




B i =X

7020 |BUKE BRI E | EEFMNEEE EAIIFE—AILEER
1—FMNo |(#&i&) Aoy H2J7J0vY FpA:=Ei
4U975E 1800L 3= 55 3= 433 1 H
H{fiNo £ G R % B = B I B &® % & =
14 EERF(— %) SH3EIRAFHE 1.000 A 18,900 18,900
9|8  H 15.000 L 102 1,530(0.044 x 64 x 5.5=15.4
3716[BUKEEH B YR =18002 1.640| f#tFHH 4,360 7,150[180/110=1.636
i A - 4B 8K LU E 27,580
= {iff 1.0 H&Y 27,580
BlDORNFHEEDELE 18,900
HilORAEBEMEDOEEE 0
(fZE] -6




B | =
7021 |5t AV R AMEER T HEESGMEEE HANE—AIUBEMR
31—FNo | (#8:1&) AJavy H+2J7J0vH YER BT
TEERE 3= 55 3= 433 100 m2

B {fiNo £ G R % B = B B & ] & =
70164 A M ARBERT 100.000 m2 13,763 1,376,300
7017\ 7o h—E3TERT 208.000 X 1,224 254,592
7019 —5 U MTET 125.500 m 1,357 170,304
7018|Ek/k T 100.000 m?2 1,402 140,200
i A - 4B 8K LU E 1,941,396
= {iff 1.0 m2&Y) 19,414
BlDORNFHEEDELE 6,563
BilDQABRMEDOEEE 12,206

ELED




B | =
7022 |REEET EEFMNEEE EAIIFE—AILEER
e g Ao JAyy HJJ0vY FpA:=Ei
REFGRRMIt 3= 55 3= 433 10 &8

H{fiNo £ G R % = B I B &® % & =
* 24| £ R— G tHEER SH3FEIRAFHE 0.238 A 23,415 5573
* kE2ZIES=] SH3EI/FHE 0.238 A 21,840 5,198
* Q1L BEXSE SH3FEIRAFHE 0.476 A 19,740 9,396
SN REFRHARSM 1t B&LVM75mm 10.000 = 11,200 112,000
3821|545 15cmBl E 6.200 m3 8,100 50,220
4048|N v )R )BELIR B2 RAAENE LT 80mal0.60mI BN 0% 0.238 = 47,030 11,193
2955|50FL—> oL —UBH 25tF  [HEMES TR 0.238 = 44,512 10,594
100038 # % WNEEEEICHTHEE 2.000 % 20,167 403
i A - 4B 8K LU E 204,577
= {iff 1.0 B4y 20,458
BlDORNFHEEDELE 2,482
BilDQABRMEDOEEE 16,222

ELED




B | =
7023 |{1R 13-t $h - E U] | HEESGMEEE HANE—AIUBEMR
1—FMNo | (#8i&) AJavy H+2J7J0vH YER BT
10cmPl E16cmiG(LLAAREFT) HmE HE 433 1 K
B {fiNo £ g1 R 1% B = B4 B & E] & =
6371 | {4l 10omBLE16cmaiE (LAHEEHT) 1.000 152 152
6376 (1L 10cmBLE16cmakid (LUAKESEET) 1.000 116 116
6381| E4] 10omBELE 16cmaki# (LAESRET) 1.000 98 98
i BA 4B R L E 366
= {iff 1.0 KLY 366
BlDORNFHEEDELE 341
BilDQABRMEDOEEE 0

ELED




B @ =%
7024 |{R431-#$h - EU] | HEESGMEEE HANE—AIUBEMR
1—FMNo |(#&i&) rJavy H+J7J0v9 FpA:=Ei
16cmPl E22ecmkiE(LLAEEFT) HmE 55 mE 433 1 K
B {fiNo £ g1 R 1% B = B {1 B & E] & =
6372| (%12 16cmBl £ 220makid (LUBKEDEST) 1.000 N 200 200
6377(#x L 16cm Bl E220makid (LIAKESEET) 1.000 N 136 136
6382|E 1] 160mEl F22omski (UAKEDRET) 1.000 PN 112 112
g BA 4B R L E 448
! i 1.0 KLY 448
BlDORNFHEEDELE 417
BilDQABRMEDOEEE 0

ELED




B | =
7025 |{R4E-#R$h - EU] | HEESGMEEE HANE—AIUBEMR
1—FMNo |(#&i&) rJavy H+J7J0v9 FpA:=Ei
22cmBl E28cm R E(LAED L T) HmE 55 mE 433 1 K
B {fiNo £ g1 R 1% B = B4 B & E] & =
6373 |{%4%I 220m Bl E28emk  (LIFREYEET) 1.000 PN 247 247
63781 22cmil E28cmE# (LIAERET) 1.000 N 150 150
6383| E1]] 22ombl F28cmak i (LLAKERET) 1.000 PN 127 127
g BA 4B R L E 524
! i 1.0 KLY 524
BlDORNFHEEDELE 489
BilDQABRMEDOEEE 0

ELED




B i =X

7026 |{% M-t fh - EY] HEESGMEEE HANE—AIUBEMR
1—FMNo |(#&i&) A J0Ovy H+2J7J0v5 FpA:=Ei
28cm L _E(LLU#AEREL T) 3= 55 3= 433 1A
B {fiNo £ G R % B = B B & ] & =
6374 | {& £l 28cml £ (LUAAFPEET) 1.000 X 299 299
6379 |4 L 28cmil b (LUARELEFT) 1.000 ZiN 169 169
6384| E4]) 28cml b (LUAAFPEET) 1.000 X 142 142
i A - 4B 8K LU E 610
= {iff 1.0 KLY 610
BlDORNFHEEDELE 569
BilDQABRMEDOEEE 0

ELED




B i =X

7027 |7 h—E# BT | EESMEEE HA)IE—AILEER
1—FNo | (#&1&) roJayy H2J7J0vY FpA:=Ei
S EHhE R E 2t 3= 55 EE 433 1t
H{fiNo £ G R % B = B I B &® % & =
M70| A EMERE IR IEE HO-SE HES YT H20t T=6.9 0.200 BRE 3,708 742
i A - 4B 8K LU E 742
= {iff 1.0 t241) 742
BlDORNFHEEDELE 547
HilORAEBEMEDOEEE 0

[#HZE] 1/5.11=0.2 Q=60 % 2.0 X 0.95/22.3=5.11 Cm=12.8+1.1+2+6.4=22.3 t2=2 x 28/50=1.1




B i =X

7028 |iEHEiE L AR | EEFMNEEE EAIIFE—AILEER
1—FNo | (#&1&) Ao JAyy H2J7J0vY FpA:=Ei
10t Th5v) 3= 55 3= 433 1 m3

H{fiNo % G R i B = B B 8 i =
4424|)L—XHA BB E 4P - HE 1 [0.8BH JL—X 10,000m25K 1.000 m3 283 283
M4\ TSVv D BE R E 10t (+0%) SYiEEE L8 0.050|  B%RS 8,847 442
i A - 4B 8K LU E 725
= {iff 1.0 m3&Y) 725
BiORNFTHEEDEE 254
HilORAEBEMEDOEEE 0

ELED

1/21.5=0.05 Vt=60/16 X 5.3 X 1.2 X 0.9=21.5 Cm=4.8 X 0.3+15 [3=4.8 L=0.3km «a=15




B | =
7029 |F& L A0LEE T HEESGMEEE HANE—AIUBEMR
o [ Ao JAyy H+2J7J0vH FpA:=Ei
N\ 1UFE0.28m3 3= 55 3= 433 1 m3
B {fiNo £ G R % B = B B &® % & =
8017|#&HA JL—X) (FF&0.2m3) BT/ vr—SHlEESR 2.000 m3 858 1,716
i A - 4B 8K LU E 1,716
= {iff 1.0 m3&Y) 1,716
BlDORNFHEEDELE 930
BilDQABRMEDOEEE 194

ELED




B i =X

7030 |iR#kFEIA EEFMNEEE EAIIFE—AILEER
—ne (BB Ao JAyy HJJ0vY FpA:=Ei
= 55 EE 433 10 m3
H{fiNo £ G R i B = B I B &® % & =
Q1L BEXE SH3FEIRAFHE 0.270 A 19,740 5,330
4033y )R BEL IR 1L1%50.45m3[0.35m 3] =1 0% 3.600| BRI 6,673 24,023
i A - 4B 8K LU E 29,353
= {iff 1.0 m3&Y) 2,935
BlDORNFHEEDELE 1,658
HilORAEBEMEDOEEE 0

ELED




B | =
7031 |AB#RiE KR HEESGMEEE HANE—AIUBEMR
1—FMNo |(#&i&) Aoy H+2J7J0v5 FpA:=Ei
10t 27 3= 55 3= 433 1 m3
H{fiNo £ G R % B = B B &® % & =
N44|F TSy 0B RE 10t (+0% SMYIEHE BiF 2.000|  E:RE 8,757 17,514
7030 (1R #k &4 1.000 m3 2,935 2,935
i A - 4B 8K LU E 20,449
= {iff 1.0 m3&Y) 20,449
BiORNFTHEEDEE 8,084
HilORAEBEMEDOEEE 0
EZE] 1/0.5=2.0 Vt=60/332 X 2.9 X 2.9=0.5 Cm=4.8 X 56.1+62.64=332 =3.6/10 X 2.9 X 60=62.64




B | =
7032 |iEE Ty T(BFIRA) EEFMNEEE EAIIFE—AILEER
31—FNo | (#8:1&) AJavy H+2J7J0vH YER BT
AR B T 3= 55 3= 433 100 m2

H{fiNo £ G R % B = B I B &® % & =
* 24|+ K— gt EE% SH3FEIRAFHE 0.500 A 23,415 11,708
* 5 m I SH3EIAFHE 1.300 A 29,085 37,811
* 25| UMD EE T SH3FEIRAFHE 0.700 A 22,995 16,097
2857| 7o h—EY ®9mm L =200mm 87.000 i 32 2,784
2861| 1E&HET ®5mm L =150mm 384.000 7N 3 1,152
37T19[HEE VR w=1m L=20m 120.000 m?2 1,380 165,600
100058 #t & MNEERBIIHTHENE 5.000 % 65,616 3,281
i A - 4B 8K LU E 238,433
= {iff 1.0 m2&Y) 2,384
BlDORNFHEEDELE 656
BilDQABRMEDOEEE 1,695

ELED
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7033 | [EMRE #EHK T | HEESGMEEE HANE—AIUBEMR
1—FNo | (#&1&) Ao JAyy H+2J7J0v5 FpA:=Ei
S EHhE R E 2t 3= 55 EE 433 1t
H{fiNo £ G R % B = B I B &® % & =
M70| A EMERE IR IEE Ha-5% EES Y720t T=6.9h 0.200 BRE 3,708 742
i A - 4B 8K LU E 742
= {iff 1.0 t241) 742
BlDORNFHEEDELE 547
HilORAEBEMEDOEEE 0

(] 1/5.09=0.2 Q=60 X 2.0 X 0.95/22.4=5.09 Cm=12.8+1.2+2+6.4=22.4 t2=2 X 29/50=1.2




BT/ Sy — B

B

WL/ N —> 2 A S A BRES 1—F No.
s LI (7oh—) m 13,645.00 13,330.00 8003|FET/%-103-16
EEXS
EETOEE EDICETTED)
A —EFEAK
FEOE 115mm
T8 LB L
B REIEES B HAER =
K ) *EN: & 28.87
K1 R—yor2oo[O—4)—/k—hviar=x-AE¥yRE] 55kWik 24.26 53,300 53,300
K2 - -
K3 - —
R(557%) 34.10
R1 LEEXE 13.29 21,100 18,800
R2 TAR—AGHEER 7.75 24,600 22,300
R3 B%REXRE 7.62 24,200 20,800
R4 - _
Z(F %) 37.03
Z1 Yo EYE ¢115mmHE 9.90 67,000 67,000
Z2 KUJLR4T d115mmA(1. 5m) 7.85 53,600 53,600
Z3 AF—0Oyr $115mmB (1. 5m) 6.49 40,300 40,300
Z4 A>F—EvYr ¢115mmHA 4.86 41,500 41,500
S(h 35 i i) - -
HER
WHBM = 1364500 x 2146206 x gg’;gg + o X o —— X Q) B 2887 — —
+ e It oo < MMt voo < MENEM t oo B NN - M - W =
+ ¢ 9.90 x 67,000 + 7.85 x 53,600 + 6.49 x 40,300 + 4.86 x 41,500 ) x 37.03
100 67,000 100 53,600 100 40,300 100 41,500 9.90 + 7.85 + 6.49 4.86
+ —— x 0 + 100 — 28.87 — 34.10 — 37.03 0.00 ]
100 0 100
EEEM = 1333000
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I/ N\vr— BlETE

WL/ N —> 2 A S A BRES 1—F No.
;adlfL(7oh—) m 16,514.00 16,150.00 8004|FET/%-103-18
EEXS
EETOEE EDICETTED)
A —EFEAK
FEOE 115mm
T8 8=
B REIEES B HAER =)
K *EN: & 27.73
K1 R—yor2oo[O—4)—/k—hviar=x-AE¥yRE] 55kWik 23.31 53,300 53,300
K2 - -
K3 - —
R(557%) 32.76
R1 LEEXE 12.77 21,100 18,800
R2 TAR—AGHEER 7.44 24,600 22,300
R3 B%REXRE 7.32 24,200 20,800
R4 - _
Z(F %) 39.51
Z1 Yo EYE ¢115mmHE 9.81 67,000 67,000
Z2 KUJLR4T d115mmA(1. 5m) 9.41 53,600 53,600
Z3 AF—0Oyr $115mmB (1. 5m) 8.29 40,300 40,300
Z4 A>F—EvYr ¢115mmHA 4.02 41,500 41,500
S(h 35 i i) - -
HER
WHBM = 1651400 x ( 2136301 x gg’;gg + o X o —— X Q) R 2173 — —
oI el M BME L IR L0
+ ¢ 9.81 x 67,000 + 9.41 x 53,600 + 8.29 x 40,300 + 4.02 x 41,500 ) x 39.51
100 67,000 100 53,600 100 40,300 100 41,500 9.81 + 9.41 + 8.29 + 4.02
+ —— x 0 + 100 — 27.73 — 32.76 — 39.51 0.00 ]
100 0 100
WEEM = 16,150.00
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BLNOT—~ & BE BN EEE( | e Eim | Ehae 1—F No.
72— T - 43 A - BRER - O - B ARALIE (7> —) 2'_( 1 7,636_00 1 67430_00 8007 }JEI/ v-104-15
EEXS
hEAK Z—EHB
Toh—8i#t PCHlil 5 &V #R(TIZHHIT)
HIfL& -
RETRIE® 400 =< 1300kN
ESNENEE FY
¥H# REIEES B HAER =
K ) *E0: E ¥ 0.00
K1 - -
K2 - -
K3 - -
R(557%) 100.00
R1 LEEXE 40.69 21,100 18,800
R2 TAR—AGHEER 23.71 24,600 22,300
R3 B%REXRE 23.32 24,200 20,800
R4 - -
Z(F %) 0.00
Z1 - -
Z2 - -
Z3 - -
Z4 - -
S(h 35 i i) - -
HER
WEEME = 1763600 x ( —(oo— X ——— + —5 0 + —= 0y = i - —
+ ¢ 40.69 x 19,740 + 23.71 23415 + 23.32 21,840 == x 0 ) x 100.00
100 21,100 100 24,600 100 24,200 100 == 40.69 + 23.71 + 23.32 + —
e e 2+ Lt e X X oy — - —py
+ 17070 x + 100 0.00 — 1(1)8.(?0 0.00 0.00 ]
WEEM = 16430.00




Fe T/ iy — B

B

BLNOT—~ & BE BN EEE( | e Eim | [ EhEE 1—F No.
J5ORNEANToH—) m3 50,532.00 51,390.00 8008|#E T/ %-105-1
EEXS
BH M RS TBRLIL EEEm Be
K *EN: & 0.00
K1 - -
K2 - -
K3 - -
R(557%) 57.26
R1 LEEXE 21.43 21,100 18,800
R2 TAR—AGHEER 12.48 24,600 22,300
R3 B%REXRE 12.27 24,200 20,800
R4 - -
VACOESY 42.74
Z1 LEBRILFSUREAVE 25kgE A 42.74 24,108 27,280
72 - -
Z3 - -
74 - -
S(H 15 B {f) - —
HER
MEHE = 5053200 x [ — o = 0. = x 0 - 0,00 - _
+ R X e o N 10 o Al  BE B B
R L — T+ Lt X X =
+ 17070 8 + 100 0.00 — 5170.%6 — 42.74 0.00 ]
EEEM = 51,390.00
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I/ N\vr— BlETE

BLNOT—~ & BE BN EEE( | e Eim | e 1—F No.
RS TRV BR (T ) ] 45861.00] _ 44,570.00 8009| T/ 3-106-1
EEXS
B REIEES FERLE FEE =)
K ) *EN: & 31.57
K1 STFL—hL— AR RES TR B R AR (B2 R (E)] 25tF * 31.57 42,000 42,800
K2 - -
K3 - -
R(557%) 68.43
R1 LEEXE 31.75 21,100 18,800
R2 TAR—AGHEER 18.49 24,600 22,300
R3 B%REXRE 18.19 24,200 20,800
R4 - -
Z(F %) 0.00
Z1 - _
72 - -
Z3 - -
74 - -
S(h 35 i i) - -
HEES
WHBE = 4586100 x 3116%7 x :3,285 + o X o —— X Q) R 3157 — —
+ T N oo~ N T oo < N T oo MEESEN  [NSENN - MEESN -+ BRENSE -
I e e T e e R Cis =
+ 17070 x 8 + 100 — 31.57 — 6180.1(1]3 — 0.00 0.00 ]
EEEM = 4457000
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I/ N\vr— BlETE

WL/ N —> 2 A S A BRES 1—F No.
Bi5(F2h—) Zm3 3,776.40 3,517.00 8012|#E T /8-107-1
EEXS
B REIEES B HAER =)
K *EN: & 7.11
K1 STFL—UHL— CHERES T B - A R 3 S B (2 RELHE ()] 25t * 7.11 42,000 42,800
K2 - -
K3 - -
R(557%) 92.89
R1 LU 63.66 27,000 23,100
R2 TAR—AGHEER 7.81 24,600 22,300
R3 ILARED[H T 7.26 21,100 21,900
R4 - —
Z(A#h 0.00
Z1 - _
72 - -
Z3 - -
74 - _
S(h 35 i i) - -
HER
mEnm = amee x (ML
R X oy * i i) T Rl R 3 @ =
e e 2+ Lt e X X -y -
+ 17070 x + 100 7.11 — 912ng 0.00 0.00 ]
EEEM = 3517.00
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I/ N\vr— BlETE

WL/ N —> 2 A S A BixES J1—F No.
a>4")—k(21-8-25) m3 20,855.00 28,750.00 8013|hE T/ \-145-7
EEXS
BEmiEsl B -SHEED
TR T% IV —bik U7 BT R
19— REE 21-8-25(&3fF)
RETHITRE 10m3LL _E100m3%K i
BEETNEE — B4
EEEEREHXS 60mLL T
HIEN/IERDERE -
TR E S, KFIT R R R -
¥H# REIEES B HAER =
K ) *EN: & 5.29
K1 aVH)—rRUTENyIERE-T—LK] EXEFESH90~110m3.h 495 51,800 51,800
K2 - -
K3 - —
R(557%) 19.70
R1 LEEXE 12.03 21,100 18,800
R2 BREXRE 3.13 24,200 20,800
R3 T AR—AGHEER 2.12 24,600 22,300
R4 1EER T (455%) 1.91 23,800 18,600
Z(F %) 75.01
Z1 a2 91—k B 21—8—25 W./C 55%LLTF 73.93 14,400 22,100
Z2 Bh 1. 28 /\rO—)LEGH 1.07 117 102
Z3 - -
Z4 - —
S(h 35 i i) - -
HER
WMERME = 2085500 x [ —32— 3],338 e e - 529 - _
+ R X e o0 7t T Che 100 SN O NP + S -+ B
S e e e vy - o0 BNt 10 * I " BT + B B =
+ —— x 0 + 100 — 5.29 — 19.70 — 75.01 0.00 ]
100 0 100
WEEM = 2875000
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T/ \y/r— Bifilig

_Ii-
L

WL/ N —> 2 A S A BRES 1—F No.
B m2 8,496.20 7.904.00 8014|#E T /8-147-1
EEXS
R iE%E — AR R4
BEYDIESE B -BHEEY
B REIEES FERLE HAER =)
K *EN: & 0.00
K1 - -
K2 - -
K3 - -
R(557%) 100.00
R1 Bh<I 47.51 25,700 22,600
R2 LEEXE 24.83 21,100 18,800
R3 T AR—AGHEER 8.97 24,600 22,300
R4 - -
VACOESY 0.00
Z1 - -
72 - -
Z3 - -
74 - -
S(h 35 i i) - -
HER
WEME = 849620 x [ — o x o = x 0. = x 0 - 000 - _
+ o T R T oo~ I T oo < D T oo MENEEEN  [NSE - MR -+ MR - N
P Tt X T gy ATt X T X T ==
+ 17070 x 8 + 100 — 0.00 — 1(1)8(?0 — 0.00 0.00 ]

EEEE = 7,904.00
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I/ N\vr— BlETE

WL/ N —> 2 e EAE R A BRES 1—F No.
#&IA UL—X) (F350.2m3) m3 975.63 858.30 8017|M&/3-007-4
EEXS
T8 T
[ETSES INRIB(IZE)
B REIEES B HAER =)
K *EN: & 30.52
K1 IR (VO—58) [ZHER - P AR ERE (F2RE#4E)] 1LFE0.28m3 (FFE0.2m3) 30.52 7,970 7,930
K2 - -
K3 - -
R(557%) 58.07
R1 EERTF (455%) 58.07 23,800 18,600
R2 - -
R3 - -
R4 - -
VACOESY 11.41
Z1 #H 1. 25 /\bO—)LEGH 11.41 117 102
Z2 - -
Z3 - -
Z4 - -
S(h 35 i i) - -
HER
AR 97563 x K 3?6502 x ;ggg + 17070 E + 17070 x 707 )% 30.52 + 3952 + =
+ R X e oo St Tt e T X T = =
+ 111(-;1)1 x 1% + 1;0 g + 17070 x 707 + 17070 x 70 )% 11.41 + = 114-—41 = =
+ 17070 x 8 + 100 30.52 — 5186((])7 — 11.41 0.00 ]
TEEEM 858.30
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I/ N\vr— BlETE

WL/ N —> 2 e S A BixES J1—F No.
av))—k m3 25,557.00 32,360.00 8019|He T /\-145-27
EEXS
BEmiEsl B - SHEED
TR T% ABITH
19— REE 18-8-40(& 17)
RETHITE=E -
BEETOEERE —BELE
EEEEREHXS -
HIEN/IERDERE FY
TR E S, KFIT R R R -
BH M RS TBRLIL EEEm Be
K *EN: & 0.00
K1 - -
K2 - -
K3 - —
R(557%) 39.69
R1 LEEXE 24.02 21,100 18,800
R2 BREXRE 7.48 24,200 20,800
R3 T AR—AGHEER 5.48 24,600 22,300
R4 - —
VACOESY 60.31
Z1 a2 9)—k % 18—8—40 W./C 55% 60.31 14,400 21,400
Z2 - -
Z3 - -
Z4 - —
S(H 15 B {f) - —
HER
WU = 2556700 x [ — o x o = x 0 +— 0 - 000 - _
+ R X Tatioo oo X Taazas * oo . Al R B @3 =
R e T+ It X T X T T + I =
+ 17070 x g + 100 — 0.00 — 3196((3]9 — 60.31 0.00 ]
EEEM = 3236000
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I/ N\vr— BlETE

WL/ N —> 2 e EAE R A BixES J1—F No.
B+ (JL—X) (FFE0.2m3) m3 975.63 858.30 80361 T/ 3-007-4
EEXS
T8 T
EILES INRIB(IZE)
¥H# REIEES B HAER =
K *EN: & 30.52
K1 IR (VO—58) [ZHER - P AR ERE (F2RE#4E)] 1LFE0.28m3 (FFE0.2m3) 30.52 7,970 7,930
K2 - -
K3 - -
R(557%) 58.07
R1 EERTF (455%) 58.07 23,800 18,600
R2 - -
R3 - -
R4 - -
VACOESY 11.41
Z1 #H 1. 25 /\bO—)LEGH 11.41 117 102
Z2 - -
Z3 - -
Z4 - -
S(h 35 i i) - -
HER
B 97563 x [ 310(-)%2 x ;ggg +—— x o= = x 0 — 3052 - _
BB e e o
+ 111(-)‘1)1 x 1% + IZO x g + 17070 x 707 + 17070 x 70 )% 11.41 + = 114-—41 = =
+ 17070 x 8 + 100 — 30.52 — 5186((])7 — 11.41 0.00 ]
TEEEM 858.30
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